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Fractions

(ircle any ractions below tht are equivaient (o 2.
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Simplify each faction as much as possivke.
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Pippa has a grid divided ino 20 squares. She shades 9 squares.
Kai has a grd divided into 100 squares.

How many squares does he need (o shade so that the
same fraction of his grid s shaded?
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Wite equivalent fractions for both of the
fractions below using the same denominalor.
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Put the fractions below in order from largest to smallest.
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Emiy's pizza was cutinto eighths, and she has eaten 5 siices.

Max's pizza was cut inlo sixths, and he has eaten 4 slices.

Ahmed's pizza was cut into quarters, and he has ealen 3 slices.

Who has eaten the most pizza? Show your working.
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Work out the answer {0 the sum below.
‘Give your answer as a mixed number.
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@ Rosie has made 13 ires of orange squash
‘She gives - of alire of orange squash to Oven

How much orange squash does Rosie have left?
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Give your answer as a mixed number in s simplest form.
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@ Luke eats £ of a oat of e
B 7 of the same foaf o bea.

How much of the loaf of bread is Ieft?
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Give your answer as an improper fracton in s simplest form.
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\Which famiy uses more milk n one day? Show your Workig
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@ Naomi has £ of a cheesecake.
‘She shares il equally between herself and her three sisters.
What racton o the wholechessecake does each il get?
Giveyour answer i s smplet fom
Q —

T




[image: image7.png]ions and Decimals

ﬁ- lines to join each fraction (o is equivalent decimal,
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Noah has 0.34lires of ot choco?!
What racton of 8 e of ol chocolee 4025 he have?

i your answer in s sinpest 1T
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@ Wite 0.48 a5 fraction in s simplest form.
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Work out the value of 7000 + 8.
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‘Shoshanna and Loah aro decorating some cakes. Shoshanna has
@ decorated i ofthe cakes. Losh has decoreed 33% of the cakes.

Who has decorated more cakes? Show your working
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@ Put the values below in order from smallest to largest.
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Who has driven the greater distance? Show your working.
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How much of the journey is Ieft? Give your answer as a percentage.
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